Tutorial 17

Problem 1
If f" is continuous on [0,00) and lim f(z) = 0, show that
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Problem 2
State the following convergence tests.

1. p-test.
2. Basic comparison test.
3. Limit comparison test.

4. Absolute convergence test.

p‘m’ﬁ N

[#<]
W N dy (\MWS{\ ) PB\

e
S\ ﬁﬂll (_O‘NNJ‘P) (=] O( ‘

BCT L Bo Tom)= B f2g  and )b o

( J w0

e 0‘50} owd ¥a, |

CCM’flav\)Oi\{w.\ ‘\Sr GQS C)r d:J, Hen :YJ\' c\‘v.)

LeT Led on\ Lwﬂam with on\7o

S g £6) Qscsfs a-d -(=0.

& SN

TLU\ msfr Con/ <& OOSO)T (M.

[ o
v

“¥~ [‘4,"“)"‘7& |x ﬂ Pl Cow Thea D:W Cowv-

[7ad ' .
C(owﬂ}e doem‘(’ hold IS L: dx La\"\/’ L\H 0?5 J‘S%\‘dx rllu_>




Problem 3

Determine whether the following integrals converge. Do not find their value.
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1. Show that I'(1) = 1.
2. Show that I'(z + 1) = 2I'(z).
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o0
o= [T
0

3. Conclude that I'(n) = (n —1)! forn=1,2,3,....
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